Revman Plots: Sitting up child > 3 yrs and adult

Fear Pre-procedure (post-intervention)

Sitting up Lying supine Std. Mean Difference Std. Mean Difference
Study or Subgroup  Mean 5D Total Mean SD Total Weight IV, Random, 95% Cl IV, Random, 95% CI
Lacey 2008 5812 367 a2 66 382 55 100.0% -0.39 077, -0.01]
Total (95% CI) 52 55 100.0% -0.39 [-0.77, -0.01] -
Heterogeneity: Mot applicable 52 51 3 15 é
Testforoverall effect: 2= 2.01 (P = 0.04) Favours Sitting up Fawvours Lying supine

Pain

Sitting up Lying supine 5td. Mean Difference 5td. Mean Difference
Study or Subgroup Mean 5D Total Mean SD Total Weight IV, Random, 95% Cl IV, Random, 95% Cl
Lacey 2008 715 3549 52 BAT 414 55 100.0% 0.07 [0.31, 0.45]
Total (95% CI) 52 55 100.0% 0.07 [-0.31, 0.45]

Heterogeneity: Mot applicahle
Testfor overall effect: Z=0.37 (F=0.71)
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Favours Sitting up Fawvours Lying supine

Distress Pre-procedure (post-intervention)

Sitting up Lying supine Risk Ratio Risk Ratio
Study or Subgroup  Events Total Evenits Total Weight M-H, Random, 95% Cl M-H, Random, 95% CI
Lacey 2008 22 53 36 55 100.0% 0.63[0.44 097
Total (95% CI) 53 55 100.0% 0.63 [0.44, 0.92] L
Total events 22 36
Heterogeneity: Mot applicable DH D!E Dfﬁ ﬁ é 1ID

Testfor overall effect £= 239 (F=002)

Distress Acute + Recovery

Favours Sitting up Favours Lying supine

Sitting up Lying supine Mean Difference Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Lacey 2008 13.79 2282 52 2409 2912 585 100.0% -10.30[-20.18,-0.42]
Total {95% CI) 52 55 100.0% -10.30 [-20.18, -0.42] [HS——
Heterogensity: Mot applicable -:10 55 h é 16
Testfor overall effect Z=2.04 {F = 0.04) Favours Sitting up  Favours Lying supine
Procedure Duration
Sitting up Lying supine Std. Mean Difference Std. Mean Difference
Study or Subgroup  Mean SD Total Mean 5D Total Weight IV, Random, 95% Cl IV, Random, 95% Cl
Lacey 2008 2779 2077 52 3245 2512 55 100.0% -0.20 [-0.58, 0.18]
Total (95% CI) 52 55 100.0% -0.20 [-0.58, 0.18]

Heterogeneity: Mot applicable
Testfor overall effect; 2=1.03 (F = 0.30)
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